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Scoring the ways of Coping Questionnaire

Raw Score

To score the Ways of Coping Questionnaire, add the raw
score for each item on the scale to get a total score. There
are four possible responses 0, 1, 2 and 3. These are also the
weights that should be used to get the raw score. Note that

not all 66 items are scaled.

# of items Iltem in the scale

Confrontive

Distancing
Self-Controlling

Seeking Social




9, 25, 29, 51

Responsibility

Reappraisal

Raw scores describe the coping effort for each of the eight

types of coping. High raw scores indicate that the person

often used the behaviors described by that scale in coping
with the atressful event.

Relative Scores

Relative scores describe the proportion of effort represented
for each type of coping and are expressed as a percentage
that ranges from 0 to 100. A high relative score on a scale
means that the person used those coping behaviors more

often than they used other behaviors.




To calculate the relative scores:

1. Calculate the average response per scale by dividing the

total raw score by the unmber of items in the scale. For

example, if the raw score for Confrontive Coping is 15 then

the average response is 2.5 because there are 6 itam on this
scale.

2. Sum the average responses per scale across all the
scales. For example, take the eight averages derived from 1
above and sum them.

3. Divide the average score for each scale (from 1) by the
sum of the averages (from 2 above) for all 8 scale. This

value is the relative score for the scale.




